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19 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 494 7249 Fh st | 000 ~ 494 1.76 7.74 ZThLLSE 1.00| 500 ~ 7.64 7249 FhLis | 500 ~ 7.64] 1.76 7.74
20 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00[0.00 ~ 542 79.74] #h st | 000 ~ 542] 1.83 8.03 Zh LS 1.00| 500 ~ 871 79.74] #h iy | 500 ~ 871| 1.83 8.03
91 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 372 5480 #hLlst | 000 ~ 3.72| 2.07 9.09 Zh LS 1.00|] 500 ~ 6.00 54.80] #hulst | 500 ~ 6.00[ 2.07 9.09
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Zh st 1.00{0.00 ~ 435 63.82| #hList | 000 ~ 435 2.09 9.18 Zh LS 1.00|] 500 ~ 744 63.82] huls | 500 ~ 7.44| 2.09 9.18
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